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Tue False

Enhancement costs are not allowable deductions from the proceeds.

Auctioneers commission paid on selling an asset s deducted from the proceeds

Commission paid on the purchase of an assetis deducted from the cost

‘The chattel exemption uses the formula: Net proceeds —£6,000 x 513

[l 85 29 BTXKBOO3 y
o —
E [ o=
B Page.

o B —

— .
" o eene
<] . o
m SceneMark. 100%
B8
B
[ 2]
[ s ]
[~ PageMark

Returns the current mark the user has achieved for the page.

Preview ED properties | B
1881P1579 |Usemame: juliab (Standard User) [Server: hitps://aat btisupass.co uk/contentp ONLINE.

g [ Reference View |





CBT Practice test model answers

Business Tax (BTX)

Practice assessment 1 FA 2010(2)
Section 1
Task 1.1
[image: image2.png]Drag the correct box next to each of the expenses below to show if they are revenue or capital based.

Revenue
|Legal fees in connection with the renewal of a shortlease

Capital
|Cost of buying the Managing Director's car

Revenue
[Repairs to roof





Task 1.2
[image: image3.png]Complete the computation. Do not use commas, brackets or minus signs when entering figures.

[Pepreciation

[General estimated doubtiul detis 70)
[Danation o a national chary 7000]
[Rccountancy ees for an unsuccessiul tax appeal 2700
[Enteriaining customers 2080

[Total added back

[Capital allowances

|Adiusted traging loss 90610





Task 1.3
[image: image4.png]Harry and Vi are in partnership. Their accounting year end is 31 October, and their recent adjusted trading
profits are:

B
310ctober 2008 7,560
310ctober 2009 9,000
310ctober 2010 9480
310ctober 2011 4920

On 31 December 2009, Vi leftthe partnership and on 1January 2010, Russell joined. Throughout all periods,
the partners shared the profits equally

Complete the following sentences using the drop down options.

Theproftassessable on Vi for 200810's: &
Theprftassessable onHarmy for 200810's: £
Theproftassessable on Russelfor 20090 is: &
Theprftassessable on Russelfor 201071 1is: &
Theprftassessable on Russelfor 201112is: &
Russell's overlap profits are: £




Task 1.4
[image: image5.png]Show if the following statements are true or false by ticking the correct box for each.

A company must set a rading loss against trading income of the current year before.
being carried backto a previous year.

Tue  False

Acompany can set a capital loss against trading profits in the currentyear.

Asole trader may carry back a trading 1oss to the previous year even though they may
have other income in the current year.

Atrading loss can be offset against capital gains before trading profits in the current year.





Task 1.5

[image: image6.png]Calculate the division of profit. You must enter zeroes where appropriate to gain full marks.

|Division of profts 80000 | 70000 | 50000

[Total 94000 | 88000 | 58000





Task 1.6
[image: image7.png]The following has been extracted from the accounts of Box Ltd for the 18 month period ended 30 September 2010.

State whether these items are time apportioned or allocated to the period in which they occur.

[Tading profis 120000
|capital gain in barch 2010 10000
[Purchase of new plantin August 2010 15,000
[Rental income 12,00
[Donation to chariy in November 2010 1,000





Task 1.7
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Section 2
Task 2.1

[image: image9.png]Show whether the following are true o false.

‘Only privately owned cars are exempt from capital gains tax.

Tue

Awasting chattel with a useful ife of 30 years is exempt from
capital gains tax.

False





Task 2.2

[image: image1.jpg]aat





Task 2.3
[image: image10.png][Number of shares | Cost (£)
(ocober 2070
Proceeds 20007£33 75000
Cost20007228 [58000
Gan 6000
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200 sz
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Task 2.4
[image: image11.png]The table below shows the capital gains and losses for 2010/11 and 2009/

0 for two taxpayers.

Using this information, compute how much annual exemption is used in 2010/11 for each taxpayer, and
the amount, if any, of capital losses to carry forward to 2011/12.

Losses brought Annual exemption  Losses to
forward from usedin carry
2009110 201011 forward

Gains in Losses in
Taxpayer 201011 201011

£ £

[Barry 18,000 4,900) 3,900) 10100 900

Harry 12,600 3,900) 2,080) 8700 2080





Task 2.5

[image: image12.png]A company bought a building for £280,000 in 2007. In 2010, this building was sold for
£430,000. Another building was bought atthe same time as the disposal

Link each cost of the new building below to the appropriate amount of rollover refief by
clicking on the left hand box and then on the right hand box. You can remove aline by
clicking on it.

Cost Amount of rollover relief

£20,000
£400,000 £40,000
£80,000

£300,000
£100,000
£600,000 £120,000
£160,000





Task 2.6

[image: image13.png]Anna and Mel share profits equally after Anna's salary of £15,000. For the year ended 5 April 2011 the profits
before salaries were £95,000.

Compute the National Insurance Contributions payable by Anna.

‘The total Class 2 NIC payable is: £ [124.80

The total Class 4 NIC payable at 8% is: £ [3052.80

The total Class 4 NIC payable at 1% is: £ [111.25

Total NIC payable is: £ [3288.85





Task 2.7
[image: image14.png]Joe sold his business in January 2011 for £5,000,000.

(a) Complete the following sentences.

Joewillpa capial gains toxat e of

Joe also has a balancing charge for income tax for the year ended 5 April 2011 which is payable on

Miuki had a liability to income tax for the year ended 5 April 2010 of £12,000.

(b) Complete the following sentence by entering the correct dates.

31001/ 12

Miukd will need to make payments on accountfor20101on | 31 /01 1 11 [and [31 107 / 11





Task 2.8
[image: image15.png]‘Blueboor Ltd has the following information for the year ended 31 March 2011

i) PCTCTis £165,000
i) Dividends received (net) are £13,500
i) The company has two associated companies.

‘The computation for corporation tax payable is:

165000 @ 28% 46200
lscuR
165000
71400 x 500000 |- [ 180000 | —= 5133]
180000
|Corporation tax payable 41067]
[Pate of payment o1 |/[o1]/ [z





Task 2.9
[image: image16.png]Phil had a tax liability of £25,000 for 2009/10 and £33,000 for 2010/11.
He paid the liabiltyfor 2010/11 as shown below.

For each payment made, drag the correct box to show:
- whether or not a surcharge is chargeable, and
- whether or not interest is chargeable.

b3t sanuary 2011 12500|| Notehargeadie | |[Notchargeanie
10 September 2011 12500|| Notehargeable Chargeatle
1 spri 2012 000|| Chargeate Chargeatle
Drag iems Chargeadle | [ Notchargeable





Task 2.10

[image: image17.png]from box 3.83 Profit from a trade or profession “_ n: 86.500 lvmmm Copy this figure to box 7

from box 382 Adjustment on change of basis Copy this figure to box 9

from box 384 Loss from a trade or profession Copy this figure to box 7

o for the period 6 April 2010 to 5 April 2011*

from box 397 CIS deductions made by contractors

on account of tax Copy this figure to box 28

from box 398 Other tax taken off trading income. Copy this figure to box 29

from box 784 Income Tax taken off Copy this figure to box 27
Copy this figure to box 4, ‘Other tox
reils” section on page Ai 2 in your
‘personal tax retum

from box 3.117Partnership charges

* & you are a 'CT Partnership’ see page PIRG S of the Partnership Tax Retum Guide




